
 
 :                                                                                                                     

: 01 –  

EXPERIMENT – 1 

SPECIFIC HEAT OF SOLID 

   :   

:    
:  








    : 




 
:  (1  (m1)  

(2)  (m2) .  

(3)  (T1
oC)  .   

      

100oC    (T2

oC)  

(T3

oC)  
(m3) .

(Q) = m.s.∆T 

 : 
 = +  

(m3-m2).Sl.(T2-T3)    = m1.Sc.(T3-T1)  + (m2-m1).Sw.(T3-T1) 

ܵ௟ = [௠భ	ௌ೎ା(௠మି௠భ)ௌೢ	][ య்ି భ்]
(௠యି௠మ)( మ்ି య்)

 


  Sw  = 1 cal/gm -oC 

Sc   = 0.095 cal/gm -oC 
 



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 : 
       (m1)  = ………………… gm 

      (m2) = ………………… gm 

            (m2 – m1)  = ………………… gm 

      (T1)  = …………………. oC 

         (T2)  = …………………. oC 

   (m3) = ………….……… gm 

            (m3 – m2)  = ………….……… gm 

  (T3 – T2)  = …………….….…oC 

    (Sw) =  1    cal/gm-oC 

    (Sc)  =  0.095 cal/gm-oC 

   (Sᶩ)  = ? 

 
 : 
 

௟ܵ  = [௠భ	ௌ೎ା(௠మି௠భ)ௌೢ	][ య்ି భ்]
(௠యି௠మ)( మ்ି య்)

 

௟ܵ  = [௠భ	(଴.଴ଽହ)ା(௠మି௠భ)ଵ	][ య்ି భ்]
(௠యି௠మ)( మ்ି య்)

 
     

    = …………………………… 
 
    = …………………………… 
 
    = …………………………… 
 
 



 :  
………… cal/gm-oC 
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